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Reasoning for SSC CGL 
 

Q1. P is shorter than Q but taller than T. R is the tallest and S is shorter than P but not the shortest. 

Who is second last in the descending order of height? 

(a) P  

(b) Q 

(c) S  

(d) T 

 

Q2. In the following question, select the word which cannot be formed using the letters of the 

given word. 

QUALIFICATION 

(a) LIAR  

(b) FIAT 

(c) LION  

(d) FICTION 

 

Q3. In the following question, select the word which cannot be formed using the letters of the 

given word. 

POSSESSION 

(a) SESSION  

(b) POSE 

(c) POISE  

(d) OBSESS 

 

Q4. In a certain code language, "RANGE" is written as "FIQEW" and "ARAGE" is written as "FIDVF". 

How is "PRANK" written in that code language? 

(a) MQEWV 

(b) LPDVU 

(c) UVDPL  

(d) VWEQM 

 

Q5. In a certain code language, "HAUNTED" is written as "4013592" 

and "RINGED" is written as "763892". How is "HINGE" written in 

that code language? 

(a) 36589  

(b) 57864 

(c) 40359  

(d) 46389 
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Q6. If "P" denotes "divided by", "R" denotes "added to", "S" denotes "subtracted from" and "Q" 

denotes "multiplied by", then 

48 P 4 R 3 Q 4 S 6 Q 4 = ? 

(a) 20  

(b) 1 

(c) 6  

(d) 0 

 

Q7.  In the following question, correct the equation by interchanging two numbers.  

9 × 3 – 8 ÷ 2 + 7 = 26 

(a) 3 and 7  

(b) 9 and 2 

(c) 7 and 9  

(d) 3 and 8 

 

Q8. If 9 θ 11 α 2 = 40 and 13 θ 12 α 3 = 75, then 40 θ 41 α 5 = ? 

(a) 340  

(b) 365 

(c) 320  

(d) 405 

 

Q9. If 8 α 48, 12 α 120 and 15 α 195, then what is the value of 'A' in 19 α A? 

(a) 323  

(b) 347 

(c) 360  

(d) 312 

 

Q10. In the following question, select the number which can be placed at the sign of question mark 

(?) from the given alternatives. 

 
(a) 1  

(b) 2 

(c) 4  

(d) 6 

 

Q11. Which answer figure will complete the pattern in the question figure?  
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(a)  

 
(b)  

 
(c)  

 
(d)  

 
 

Q12. Which answer figure will complete the pattern in the question figure?  

 
(a)  

 
(b)  

 
(c)  

 
(d)  
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Q13. From the given answer figures, select the one in which the question figure is 

hidden/embedded.  

 
(a)  

 
(b)  

 
(c)  

 
(d)  

 
 

Q14. From the given answer figures, select the one in which the question figure is 

hidden/embedded.  

 
(a)  

 
(b) 

 
(c)  

 
(d)  
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Q15. A piece of paper is folded and punched as shown below in the question figures. From the 

given answer figures, indicate how it will appear when opened?  

 
(a)  

 
(b)  

 
(c)  

 
(d)  

 
 

Q16. A piece of paper is folded and punched as shown below in the question figures. From the 

given answer figures, indicate how it will appear when opened? 

 
(a)  

 
(b)  

 
(c)  

 
(d)  
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Q17. If a mirror is placed on the line AB, then which of the answer figures is the right image of the 

given figure? 

 
(a)  

 
(b)  

 
(c)  

 
(d)  

 
 

Q18. If a mirror is placed on the line AB, then which of the answer figures is the right image of the 

given figure?  

 
(a)  

 
(b)  

 
(c)  

 
(d)  
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Q19. A word is represented by only one set of numbers as given in any one of the alternatives. The 

sets of numbers given in the alternatives are represented by two classes of alphabets as shown in 

the given two matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and that of 

Matrix-II are numbered from 5 to 9. A letter from these matrices can be represented first by its 

row and next by its column, for example, ‘L’ can be represented by 11, 42, etc., and ‘A’ can be 

represented by 65, 96, etc. Similarly, you have to identify the set for the word “FISH”.    

 
(a) 66, 00, 68, 14  

(b) 95, 44, 87, 33 

(c) 89, 32, 75, 42  

(d) 41, 13, 68, 86 

 

Q20. A word is represented by only one set of numbers as given in any one of the alternatives. The 

sets of numbers given in the alternatives are represented by two classes of alphabets as shown in 

the given two matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and that of 

Matrix-II are numbered from 5 to 9. A letter from these matrices can be represented first by its 

row and next by its column, for example, ‘M’ can be represented by 22, 44, etc., and ‘T’ can be 

represented by 67, 96, etc. Similarly, you have to identify the set for the word “CROPS”.  

 
(a) 13, 68, 10, 67, 40 

(b) 42, 89, 41, 85, 31 

(c) 34, 66, 33, 58, 30  

(d) 13, 56, 24, 95, 14 

 

Q21. Introducing a man, Ranu said. “He is the only son of my 

grandmother’s only child”. How is the man related to Ranu?  

(a) Father  

(b) Brother  

(c) Son  

(d) Grand Father  
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Q22. Direction :  There are three statements which are followed by three conclusions. Choose the 

conclusion which logically follow/follows from the given statements 

Statements: Money plays a vital role in politics. 

Conclusions: 

1. The poor can never become politicians. 

2. All the rich men take part in politics. 

(a) Only conclusion I follows 

(b) Only conclusion II follows 

(c) Either I or II follows 

(d) Neither I nor II follows 

 

Q23. Pointing to a man in a photograph, Isha said. “His father’s only son is my father”. How is Isha 

related to that Man?  

(a) Sister  

(b) Niece  

(c) Mother  

(d) Daughter  

 

Q24. If in a certain language, COMPUTER is coded as 24681973. How is ROTER coded in that 

language?   

(a) 3 7 6 8 9  

(b) 3 9 4 3 7  

(c) 3 4 9 7 3  

(d) 3 6 8 3 4  

 

Q25. Insert the missing character depicted by ?’ 

4 8 5 

3 2 3 

5 4 5 

17 20 ? 

(a) 15 

(b) 20 

(c) 42 

(d) 12 

 

 


